<3 @> (rad)
o
=
(6)]

-0.05

|
© 1

D
[63] iy

N

Ratio
0 L N BN

o

o B EEEREEEEER]

........................

B
T T T
+

4
4

+

—=— DQM_original_step2_ttbar-phasel-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquareNew_step2_ttbar-phasel-newgeom

.............................

...........................

............................

3

[ay
o
I8

<op/p. > (%)

Ratio

0.8

[y
o
I8

1

I : 2 3
TPl[:g)T (PCA t%)obeamlin%)o

—

100

20F i 5 RRRERE
r |4 N N +
0:_* :: -r_".'.?-l-.-l-.‘o.‘:“..‘;‘.ﬂ#¥ . ..: ...........
- & : :
_20:_" """"""""":' """" ":'IE """"""
T 111 O N | —
—B0F- | [T{ -+ eieeeeeeenes e 4 ERPERRRR
_80:_ """"""""""""""""" M
10_0: R L |! L
F < [T :
1= -1+ R Y - ST PR
0.5 PN A
-+ L]

2 3
TPl[g)T (PCA f%)obeamlinép




	Contents
	Page 1


